



Timothy Hubbard
Supervisor

Town of Riverhead
4 W Second Street
Riverhead, NY 11901

Teresa Baldinucci
Purchasing Director
631-727-3200 Ext. 271

TO: Supervisor Hubbard; Deputy Supervisor Higgins; Councilpersons Kern, Merrifield, Rothwell, Waski; Vanessa LeCann, Deputy Town Clerk; Drew Dillingham, Town Engineer; Ken Testa, Deputy Town Engineer

CC: Eva Gregorovius, Purchasing Technician; Carol Delvecchio, Clerk's Office; Shannon Clifford, Engineering

FROM: Teresa Baldinucci, Purchasing Director

DATE: June 26, 2025

RE: Bid Opening Report for Annual Procurement Contract

2 bids were received and opened on June 26, 2025 at 11am:

BARBATO NURSERY CORP.
1600 RAILROAD AVE
HOLBROOK, NY 11741
barbatolandscape@aol.com

EAST ISLAND ASPHALT CORP
1217 SPEONK RIVERHEAD RD
SPEONK, NY 11972
mberetta@rosemar.com

Results of the bid opening are attached. All bids have been forwarded to Engineering for review.

COMMODITY:	2025 ANNUAL PROCUREMENT CONTRACT				
BID OPENING DATE:	6/26/2025				
COMPANY NAME:				Barbato Nursery Corp	East Island Asphalt
CONTACT:				Kelly Singleton	Matt Berretta
PHONE #:				631-285-6767 ext 202	631-878-2323

Award No. 50 - Asphalt Materials Loaded into Town of Riverhead Trucks

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
50	60	Asphalt Concrete Type 1, Base Course Loaded into Town of Riverhead Trucks	Ton	0 - 500	250			\$78.00	\$19,500.00
	62	Rut Avoidance Asphalt Concrete, Type 3RA Binder Course, Loaded into Town of Riverhead Trucks	Ton	0 - 500	250			\$80.00	\$20,000.00
	64	Rut Avoidance Asphalt Concrete, Type 6FRA Top Course Loaded into Town of Riverhead Trucks	Ton	0 - 500	250			\$82.00	\$20,500.00
Total Bid Comparison Award No. 50						NO BID		\$60,000.00	

Award No. 51 - Cold Patch Loaded into Town of Riverhead Trucks

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
51	66	Cold Mix Bituminous Pavement Loaded into Town of Riverhead Trucks	Ton	0 - 500	250			\$125.00	\$31,250.00
Total Bid Comparison Award No. 51						NO BID		\$31,250.00	

COMPANY NAME:	Barbato Nursery Corp	East Island Asphalt
CONTACT:	Kelly Singleton	Matt Berretta
PHONE #:	631-285-6767 ext 202	631-878-2323

Award No. 52 - Sand Asphalt Base Course Loaded into Town of Riverhead Trucks

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
52	72	Sand Asphalt Base Course Loaded into Town of Riverhead Trucks	Ton	0 - 500	250			\$500.00	##########
Total Bid Comparison Award No. 52								NO BID	##########

Award No. 53 - Baseball Field Soil Materials

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
53	28	Baseball Sand Mix	CY	0-500	250	\$63.47	\$15,867.50	\$55.00	\$13,750.00
	29	Baseball Clay Mix	CY	0-500	250	\$86.47	\$21,617.50	\$75.00	\$18,750.00
	33	Road Sand Mix	CY	0-500	250	\$63.47	\$15,867.50	\$55.00	\$13,750.00
Total Bid Comparison Award No. 53								\$53,352.50	\$46,250.00

Award No. 54 - Composite Soil Mix, Pea Gravel

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
54	31-S	Composite Soil Mix	CY	0-1000	500	\$133.47	\$66,735.00		
	31-G	Pea Gravel	CY	0-100	100	\$199.47	\$19,947.00		
Total Bid Comparison Award No. 54								\$86,682.00	NO BID

COMPANY NAME:	Barbato Nursery Corp	East Island Asphalt
CONTACT:	Kelly Singleton	Matt Berretta
PHONE #:	631-285-6767 ext 202	631-878-2323

Award No. 55 - Recycled Concrete Aggregate

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
55	4-P	Recycled Concrete Aggregate	CY	0-1,000	500	\$33.47	\$16,735.00	\$25.00	\$12,500.00
Total Bid Comparison Award No. 55								\$16,735.00	\$12,500.00

Award No. 56 - Certified Wood Fiber Safety Surface

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
56	152	Certified Wood Fiber Safety Surface	CY	0-500	250	\$59.47	\$14,867.50		
Total Bid Comparison Award No. 56								\$14,867.50	NO BID

Award No. 57 - Landscaping Wood Mulch

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
57	160-L	Landscaping Wood Mulch - Low Grade	CY	0-500	250	\$38.47	\$9,617.50		
	160-H	Landscaping Wood Mulch - High Grade	CY	0-500	250	\$43.47	\$10,867.50		
Total Bid Comparison Award No. 57								\$20,485.00	NO BID

Award No. 58 - Blue Stone

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
58	170-3/8"	Blue Stone - 3/8"	CY	0-500	250	\$83.47	\$20,867.50	\$75.00	\$18,750.00
	170-3/4"	Blue Stone - 3/4"	CY	0-500	250	\$83.47	\$20,867.50	\$75.00	\$18,750.00
	170-S	Blue Stone Screenings	CY	0-500	250	\$83.47	\$20,867.50	\$75.00	\$18,750.00
Total Bid Comparison Award No. 58								\$62,602.50	\$56,250.00

COMPANY NAME:	Barbato Nursery Corp	East Island Asphalt
CONTACT:	Kelly Singleton	Matt Berretta
PHONE #:	631-285-6767 ext 202	631-878-2323

Award No. 59 - Trap Rock

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
59	172	Trap Rock	CY	0-500	250	\$133.47	\$33,367.50		
Total Bid Comparison Award No. 59							\$33,367.50	NO BID	

Award No. 60 - Ready-Mix Concrete - Low Quantity

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
60	14	Ready-Mix Concrete	CY	0-5 CY	2	\$525.47	\$1,050.94		
Total Bid Comparison Award No. 60							\$1,050.94	NO BID	

Award No. 61 - Ready-Mix Concrete - Mid Quantity

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
61	14	Ready Mix Concrete	CY	6-10 CY	8	\$374.47	\$2,995.76		
Total Bid Comparison Award No. 61							\$2,995.76	NO BID	

Award No. 62 - Ready-Mix Concrete - High Quantity

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
62	14	Ready Mix Concrete	CY	11-15 CY	12	\$374.47	\$4,493.64		
Total Bid Comparison Award No. 62							\$4,493.64	NO BID	

COMPANY NAME:	Barbato Nursery Corp	East Island Asphalt
CONTACT:	Kelly Singleton	Matt Berretta
PHONE #:	631-285-6767 ext 202	631-878-2323

Award No. 63 - Drainage Pipe

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
63	30-4"	4" Diameter Underdrains	LF	0-500	250				
	30-6"	6" Diameter Underdrains	LF	0-500	250				
	30-8"	8" Diameter Underdrains	LF	0-500	250				
	15-4"	4" Diameter Polyethylene Pipe	LF	0-500	250				
	15-12"	12" Diameter Polyethylene Pipe	LF	0-500	250				
	15-15"	15" Diameter Polyethylene Pipe	LF	0-500	250				
	15-18"	18" Diameter Polyethylene Pipe	LF	0-500	250				
	15-24"	24" Diameter Polyethylene Pipe	LF	0-500	250				
	15-30"	30" Diameter Polyethylene Pipe	LF	0-500	250				
	15-36"	36" Diameter Polyethylene Pipe	LF	0-500	250				
	15-48"	48" Diameter Polyethylene Pipe	LF	0-500	250				
	184	Non-Woven Geotextile	SY	0-1500	1000				
Total Bid Comparison Award No. 63						NO BID		NO BID	

COMPANY NAME:	Barbato Nursery Corp	East Island Asphalt
CONTACT:	Kelly Singleton	Matt Berretta
PHONE #:	631-285-6767 ext 202	631-878-2323

Award No. 64 - Topsoil, Fertilizer, Lime

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
64	32-T	Topsoil	CY	0-100	100				
	32-F	Fertilizer	Ton	0-5	5				
	32-L	Lime	Ton	0-5	5				
	32-S	Seed	Pound s	0-1000	1000				
Total Bid Comparison Award No. 64						NO BID		NO BID	

Award No. 65 - Planting Mix

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
65	34	Planting Mix	CY	0-1000	500	\$143.47	\$71,735.00		
Total Bid Comparison Award No. 65						\$71,735.00		NO BID	

Award No. 66 - Asphalt Pavement Crack and Joint Sealant - Low Quantity

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
66	30-F	Granular Fill	CY	0-500	250				
Total Bid Comparison Award No. 66						NO BID		NO BID	

Award No. 67 - Asphalt Pavement Crack and Joint Sealant - Mid Quantity

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
67	44	Asphalt Pavement Crack and Joint Sealant	Lbs	0-1000	700			\$12.00	\$8,400.00
Total Bid Comparison Award No. 67						NO BID		\$8,400.00	

COMPANY NAME:	Barbato Nursery Corp	East Island Asphalt							
CONTACT:	Kelly Singleton	Matt Berretta							
PHONE #:	631-285-6767 ext 202	631-878-2323							
Award No. 68 - Asphalt Pavement Crack and Joint Sealant - High Quantity									
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
68	44	Asphalt Pavement Crack and Joint Sealant	Lbs	1001-1500	1,500			\$12.00	\$18,000.00
Total Bid Comparison Award No. 68						NO BID			\$18,000.00

COMPANY NAME:	Barbato Nursery Corp	East Island Asphalt
CONTACT:	Kelly Singleton	Matt Berretta
PHONE #:	631-285-6767 ext 202	631-878-2323

Award No. 69 - Drainage Rings & Top Slabs

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price
69	16A	4' DIA X 2' HIGH LEACHING RING	EA.	1-20	5				
	16B	4' DIA X 4.5' HIGH LEACHING RING	EA.	1-20	5				
	16C	8' DIA X 2' HIGH LEACHING RING	EA.	1-20	5				
	16D	8' DIA X 3' HIGH LEACHING RING	EA.	1-20	5				
	16E	8' DIA X 3.5' HIGH LEACHING RING	EA.	1-20	5				
	16F	8' DIA X 4' HIGH LEACHING RING	EA.	1-20	5				
	16G	8' DIA X 4.5' HIGH LEACHING RING	EA.	1-20	5				
	16H	10' DIA X 2' HIGH LEACHING RING	EA.	1-20	5				
	16I	10' DIA X 3' HIGH LEACHING RING	EA.	1-20	5				
	16J	10' DIA X 4' HIGH LEACHING RING	EA.	1-20	5				
	16K	10' DIA X 5' HIGH LEACHING RING	EA.	1-20	5				
	16L	4' DIA CIRCULAR TOP SLAB	EA.	1-20	5				
	16M	8' DIA CIRCULAR TOP SLAB	EA.	1-20	5				
	16N	10' DIA CIRCULAR TOP SLAB	EA.	1-20	5				
	16O	4' X 6' TOP SLAB	EA.	1-20	5				
	16P	8' X 8' TOP SLAB	EA.	1-20	5				
	16Q	10' X 8' TOP SLAB	EA.	1-20	5				
Total Bid Comparison Award No. 69						NO BID		NO BID	